LME i %15 (kv EMAHRE WHTE=E
SHAG = b = 55 TaExax  4H3H A®E-w 4H2H
Y] - - - - - LMEFI&E (351 - B DEI55s Care
BIEZAL _ _ i} IMEEDZDHEE L < LB
Vil /] - - - - - [P CBMERILT%) KX AGEE
TS = _ - LMESEEYLFHE  Fi=XHE
#HG _ _
H B _ - - - - B XU A= HEk
BIEEHL _ - - LME - -
B - - - _ - NY ¥763,086 5,488
H 5 - - MEEATISE YL XY FTHE
0 BiE AL
H Y _ _ _ N N P I _
BEEHL - - - HHiE 1660.5 | 28.3
% LL@__ - - - - - =7 = PA V7 3 - —_ _
HES - - WEEADOTTS 107.30 | 0.06
FSHG NY F/ ]10585 — 105.95
W - - - - - s A4AR FIEEHE HES
BEEHL - - - # 50250 270]| 32400
Vi) - _ - - - 7L 2113845 14021210
H 5 - - i |25055 135 5800
FLIHG gn 19130 205] 1750
IH ¥ _ - - - - EEABRE smEEAn fitkE
BTHEE - - - g [¥869.325 | 8,669 (¥743,013
L, - - - - - 7L X |¥239,519 | 3,518|¥204717
HE s - - B3R |¥433.452 | 4,329|¥370471
TILIEE g0 |¥330949 | 5,061 |¥282.862
H B _ _ _ - . mezAoxL— | ¥17.30
EEES=R - - - Ll A 383,075 0
T - - - - - Ml 35 2,060 0
HES 0 - || B 129275 | 0
KEFRT L IES w | FEEA 212,825 0
IH ¥ - - - - - |77 1,286,300 0
BIEZAL - - - - L|TriaE 12,520 0
— vl B & 35373 178,380 0
IH ¥ - - - - - =y 320,586 0
BEZAL - - - SHEOEBEE  (bv)
T 1 - - - - - # | 306,211 A 1,224
tH = __ - |7v3| 970,387 30,069
Z;E;;“ - BEEIS - - FEin | 150,927 A 8,420
(s g 1 - -| 7£Es| 538 - pin) 23,041 A 3,302
EN T, _ _ - NYH—7(FI)
L7 - - - . - - -
NYJXy IR GA-B=t> b, ZOMIEFL) | - - -
$H G & B_|T5FF[5VTL ], - - -
4BR H [304.05|1342.1|1662.7| 930.7| 928.50 - - -
5BRA[305.00{1343.9|11667.2| 932.1] 929.70|,, - - -
6PfRH [306.10|1346.911671.6] 934.1| 927.50 - - -
7BRH1307.05 -11675.9] 936.5 -| & - - -
8BR A [308.05|1352.9 - - -| - - -
mEXAk) 215 193] 404 3.4 A 16.30]|7 - - -
HES [79434 244918 (82229 [18098 5611 |= - - -
RS | ¥719,045 | XBE#2BDOOY F i IRKETT, . - - -
siE%AL| 5484 . - - -




